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Addition within 10

adding with number bonds
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how many toy cars are there altogether?

7/ 23 7/ 23 7/ 23

® ® ® @ ® @ part
L0 L0

\\0/ o part
3+2=5

there are 5 toy cars altogether.
3 + 2 = is an addition equation.

three plus two equals five.

Let's Practicelll

how many lemons are there altogether?

3 whole
\ :
2 ~

'+" means plus
'=' means equal

1/

6+4=10 or 4+6=10.

there are 10 lemons altogether.
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there are .paper clips altogether.

2. how many monkeys are there altogether?

Py Y

H-H-B - H-E-H

there are.monkegs altogether.

3. how many grapes are there altogether?

A4 4 2
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uem-m - meN-B

there are . grapes altogether.




siswa mendapat nilai 4 apabila
menjawab soal penjumlahan
dan mengisi angka di number
bonds sama dan benar

siswa mendapat nilai 3 apabila
menjawab soal penjumlahan dan
mengisi angka di number bonds
benar, namun berbeda angka

siswa mendapat nilai 2 apabila
menjawab soal penjumlahan
benar dan number bonds salah,
ataupun sebaliknya

siswa mendapat nilai 1 apabila
mencoba menjawab soal
penjumlahan namun masih salah



